
 

First law of thermodynamics is
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the idea of the Carnot cycle is that you do a
loop intend in the cycle For this it's convenient
to write the first law in infinitesimal form
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corresponds to infinitesimals of
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the Carnot cycle implies that
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The TC max intensity
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Maxwell's relation says a spec volume
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we can use the chain rule
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directionofthe unit vector
you are changing your coordinate system from
isobaric to angular momentum based
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We are now going to integrate over the TC column
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geostrophic balance in the eyewall
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We can use M definition to obtain
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Moving things around yields
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